E(X|Y=y) = /Oy zfxy (v,y)dr, (0.5

ou 5
ENENG 1
fxy (@y) = = . (0.5)
s Aryy
Donc ” 1
X
E(X|Y =y)= de=-y. (0.5
K1y =p=[ s dr=gu 03

4. Méthode 1. On a

2
Z=2E(X|Y)-3=3Y -3 (025

et
E(Z) = gy (s)|s=, (0.5)
ou
—3s 2 / —3s 2 —3s /1
gz (s) =e gy 35 (0.25) = ¢ (s) = —3e¢ gy 3 + e gy
avec o/s )
2 5 2 5es® — 5
Z5) = 2 edsudy = 0.5
gy<38> /0 ¢y e (05)
alors

g (23) RUEDE LSRN0

3 652
En utilisant la régle de I’Hopital, on obtient
2
+ —3s ./ “
s=0 ‘ gY (38)

e (2
() = 3¢ gy( )

gs s=0
= —3+§ (0.5)
12
= —— 0.25
=, (0.25)
et 19
E(Z)=-+. (025)

Méthode 2. On a

Z:QE(X\Y)—3:§Y—3:h(Y), (0.25)

et
E(Z) = g7(8)|.m, (0.25)
ou o/
gz (s) = / e*fz(2)dz, (0.25)
-3
avec

f2() = (7))

()

5
= = 0.25
67 ( )

fyr (' (z)) (0.25)

g (0.25)

2



